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I 7 mwn: Continued survey of 21¥p qud and how it may be a X»p or X1 — LR and nnan
a  Explantion: whether he rapes or seduces a daughter of an important or “mundane” family — pays 50
i However: payment for damages (D39) and shaming (nw1) (and 9% in case of ©1IR) are subjective
it Question: why not read that the 50 5pw mandated by the nn is full payment, including nio nwa?
1 Answerl (Xyr #1): how could raping a princess and raping a citizen have the same consequence?
(a) Challenge (7ax): then apply the same to 72y (killed by T»mn 1) — if he is a jewel cutter or a tailor — 30?
2 Rather (Kvyr #2): if 1 was 9911 her 13772 X5 and the 27 13773, - same payment for nn%w and nnna?
(a) Challenge (7ax): then a slave who is healthy and one who is sickly shouldn’t both be “worth” 30
3 Answer2 (»aN): v. 1 - payment is for 1y 7R nnn — but doesn’t cover other assault charges
4 Answer3 (827): v.1—nny 20vn — payment is for sexual enjoyment — doesn’t cover other damages
II  n nmwn: leniency/gravity of set amount (100 y9o) for y1 nw ®xM —
a  Explantion: whether he slanders a daughter of an important or “mundane” family — pays 100
b Observation: speech is more powerful than action (pays “double”)
i Challenge: perhaps the double-fine is because his slander may have led to her death (vv. 4-5)
ii  Answer: v. 3 indicates that the fine is directly caused by his slander
¢ Proof: decree against our ancestors (to die in desert) was “sealed” due to Y0 NWY, per v. 2
i Question: perhaps we had to tarry to allow 12 to “fill their portion” of sin before being dispossessed (v. 6)?
ii ~ Answer: v. 2 indicates that it was their “testing” God (as a result of the slander of the Land) that caused the decree
iii ~ Tangential observation: power of y1n NWY —1"p from Y, who “only” spoke ill of the Land
1 Challenge: perhaps the 113 was so severe due to the implied blasphemy (nn — v. 7 — alluding to 'n)
2 Answer: v. 8 makes it clear that their death was a result of their words about the Land
I  Aggadic tangent: the “10 tests” (vv. 9-21)
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b Water/thirst: 2 —vv. 12 - 15
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